Geometry, 9.9: Intro to Trigonometry (Sine, Cosine, Tangent)

For a right triangle, given one of the non-right angles,

each side has a 'name";
hypotenuse (hyp)

opposite (opp)

adjacent (ad))

We know two special triangle 'patterns'.
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The ratio depends on the angle, but not on the size of the triangle. These ratios are called
trigonometric ratios:

To help remember:
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Geometry, 9.10: Solving for missing side using trig ratios

You want to cut down a tree in your yard, but need to know how tall it is — is it safe to cut, or will

it hit your house when it falls? You measure off a distance on the ground, and use a protractor
to measure the angle to the top of the tree:
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What do you do if the angle isn't 30, 45 or 60 degrees?
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Geometry, Notes — Law of Sines

We know how to do right triangle problems like this. ..

Find the height of the telephone pole:

/] @'A:iﬂﬁ
'
hy ,/I £a 45"97%
P (R
/’ h =21(2.0503)
f a3 1 Yh=434r|
L___'_,_-
21 ft
ad
Law of Sines
brief proof...
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Examples:
If a=6, b=5.2, A=61°
find the remaining angle and sides.
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But what do we do if the pole is not vertical?
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[if c=85°, B=50°, and b=27 f, |
find remaining sides and angles.
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Geometry, Notes — Law of Cosines
Law of Sines doesn’t work if we don’t have one known angle across from a known side. Need

another method to solve these triangles.
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